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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.
This paper consists of seventy five multiple-choice type of
questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
abooklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.
(iii) After this verification is over, the OMR Sheet Number

should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.
Example :
where (C) is the correct response.
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Sheet given inside the Booklet only. If you mark at any
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allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
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white fluid, you will render yourself liable to disqualification.
You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry original
question booklet and duplicate copy of OMR Sheet on
conclusion of examination.
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LABOUR WELFARE AND INSUTRIAL RELATIONS

Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  According to Henry Fayol, which of
the following statements is correct ?

(A)
(B)

©

Management is a part of
Administration.
Administration is a part of
Management.

There is no difference between

Management and Administration.
(D) There 1is great difference

between  Management and

Administration.

Which of the following is a long term
plan regarding enterprise objectives,
course of action and allocation of
resources ?

(A) Mission (B)
(C) Policy

Strategy
(D) Programme

The tests to assess a person’s ability
to undertake a particular type of work
or to learn particular skills are called

S.

Match the following :
(a) Business 1.
Process
Reengineering
(b) Core
Competence
(c) Balanced

C.K. Prahallad
and Gary
Hamel

ii. Chris Argyris

iii. Michael

Score Card

(d) Learning
Organization

Hammer and

James Champy
iv. Robert S.

Kaplan and

David P.
Norton
Codes :
@ M) © (@
A i i il iv
B) iv i i i
©) 1 i 1ii iv
(D) iii i iv ii
Which of the following is not the
characteristic of a transformational
leader ?

(A)

Inspiring by communicating

(A) Aptitude tests
(B) Knowledge tests
(C) Intelligence tests
(D) Attitude tests

4. Match the following styles related to
managerial grid :

high expectations.
(B) Promoting intelligence and
rationality.
(C) Treating employees individually.
(D) Avoiding making decisions.

Which of the following is a
machinery for settlement of industrial
disputes ?

(A) National Commission on Labour
(B) Wage Board

(C) Industrial Tribunal

(D) Standing Labour Committee

(@ 1,9 1. Impoverished
Management

(b) 1,1 ii. Team Management

(¢) 9,1 iii. Country Club
Management

(d 9,9 1iv. Task Management

Codes :

@ b)) (© (@

(A iv an i ii

B) 1 i v ii

<© i 1 dv ii

D) i i ii iv

Paper-I11

8.  The New Economic Policy led to :

(A)

(B)
©
D)
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Weak bargaining power of
workers’ unions.

Strong union leadership.
Decreased managerial militancy.
Increased union membership.
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9. Who was the first President of the

Indian Federation of Labour ?

(A) M.N. Roy

(B) Jamna Das Mehta

(C©) R.S. Ruirkar

(D) V.V.Giri

10. Which Article of the Indian

Constitution guarantees ‘just and

humane conditions of work and

maternity relief” ?

(A) Article 41 (B) Article 42

(C) Article 43 (D) Article 45

11. A Certifying Officer under the

Industrial Employment (Standing

Orders) Act enjoys all powers of a

Civil Court under the section 345 of

Cr. P.C., 1973 for purposes of

(A) receiving evidence,
administering oaths but not for
enforcing the discovery or
production of documents.

(B) receiving evidence, administering
oaths, enforcing attendance of
witnesses and/or compelling
discovery/production of
documents.

(C) receiving evidence, enforcing
attendance of witnesses
compelling discovery/production
of documents, but not enforcing
attendance of witnesses.

(D) None of the above.

12. 5 ‘S’ Japanese Model is associated
with

(A) Quality Management

(B) Cost effective activities

(C) Housekeeping

(D) All the above

13. Assertion (A) : Labour migration
has been accentuated by
globalization.

Reason (R) : Low unionization is
both a cause and an outcome of
migration.

Codes :

(A) Both (A) and (R) wrong.

(B) (A) is right and (R) validates
(A).

(C) (A)is wrong, but (R) is right.

(D) (A) is right, but (R) does not
validate (A).

Paper-I11

14.

15.

16.

17.

18.

According to Robert F. Hoxie, the
‘Business Unionism’ is also known as
(A) Friendly Unionism

(B) Uplift Unionism

(C) Predatory Unionism

(D) Bread and butter Unionism

Which of the following designations
was suggested by the Royal
Commission on Labour in its report ?
(A) Welfare Officer

(B) Labour Officer

(C) Personnel Officer

(D) All the above

Which of the following statements
about the role of Government in
Industrial Relations in India is not
true ?

(A) The Government Continues to
play a controller’s role.

(B) The Government moved away
from the controller’s role to
enabler’s role.

(C) The Government is generally
reticent, if not reluctant, to dole
out administrative clearances
for lay offs, closures, or
retrenchment.

(D) The Government has hardly
made any efforts to shift its
emphasis from conflict
resolution to conflict avoidance.

Which of the following states
pioneered the practice of setting up of
‘Labour Lokadalats’ for the speedy
disposal of industrial disputes ?

(A) Haryana (B) Gujarat
(C) Maharashtra (D) Punjab

Which of the following principles were
taken into account while formulating
the Model Grievance Procedure ?

a. Conformity with the existing
legislation.

b. Make the grievance handling
machinery simple.

c. Make the grievance handling
machinery expeditious.

d. Designating the authorities to be
contacted at various levels of
grievance procedure.

(A) Onlya (B) aandb

(C) a,bandc (D) a,b,candd

J-55-14
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10.

11.

12.

13.

IETT B 3 e o YAT e
OIfEEe) I o 2

(A) WHTA. U (B) S S Hedl
(C) °RTE. & (D) arar fiik

IRATT GITeM 7 B AT =T B
St e e g fefaat e wgfa
TES ! TR ST & 2

(A) FTWT4L (B) IFTWT 42
(C) eF®mT43 (D) ITBHT45

ST AT (R ST St

& T U YHUH 3TTuehry, Fefatad

o F 59 39T & fou, diemdrr, 1973

FH URT 345 & AT MEGA HIE B

L vl § T gl & 2

(A) TEF U HIAT, I AT TR
TS B @IS AT T A
T SR I F T T&l |

(B) WT&T UT LT, I AT, TeE
#  Sufefd @ ¥ &
AN/ ST SEATAST Sl @IS/
T & AT e HE |

(C) e U &L, T8 i Sufefa
T QI AT, IEAEST I e
AT U HA & T are T,
W] TEE H U BT SR
T % T &t |

(D) SUIF H I HE T |

5 ‘S’ SO Higet fhad Gefyd & 2

(A) TUTERT Ve

(B) T WeTell foharehenTd

(C) TSI

(D) ST |

ATHHAT (A) : AVSHIT & HRUT AHF
TerET SeT € |

HROT (R) : s G & & T80
T F G Y FHH, TTTT H HROT
& A TR W ¥ |

%< . .

(A) (A) T (R) I TTAT & |

(B) (A) W& & @ (R),
HeAT AT & |

(C) (A) 7o &, = (R) W& € |

(D) (A) W & T (R), (A) H
T Tl e |

(A) =
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14.

15.

16.

17.

18.

e TH FRA &

AR faoTg
A B A il el A E

Tt HHYH AT A 7 9 e 9
ffatEd & ¥ o6 9= o1 gerd i3
or 2

(A) RN METR(B) R SHIT
(C) wHHA HMFHR (D) ST a4l

IRA SIS oY T THR i o

% fowa o frafafad & 9 &9 a1 we

TE TR § 2

(A) WER i ot Fes & e
e |

(B) WER vl wffe sres
TUIHRT T 9 W E |

(C) o 3w, s ar Re=me &g
TR FME 39 H fow
WHR, AT A=z =l o & i,
<t 9Ty S92

(D) gwﬁmwﬁwﬁ

SR foemel & oS M 9 Fued %
%N AT leh AIMAT. bl TS hH ﬁ
frfetiad & & i9 91 o9 3ol § 2
(A) el (B) T

(C) WerT (D) U

ey forpra uiskm  (Wiewr  feiw

niaeaR)  ® A WWd 9Hd

frferfias & @ fr fagra i foa) 4

QT T AT ?

a. TSI $MA & 91 STET |

b.  Torehad e HRNRRE B WA ST |

c. TorhrEd WA TEIA @l Sheten
3 &I S |

d. g uikar & faie & ©w
5 eyl 9 s & §
3% M & |

(A) FHaA a (B) a3Rb
(C) a,b3c (D) a,b,c3d
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19.

20.

21.

22,

Which of the following have emerged
as new ‘actors’ in the changing
industrial relations scenario ?

a. Consumers

b.  Community

C. Journalists

d. Environmental activists

Codes :
(A) Onlya (B) aandb
(C) a,b,candd (D) a,bandc

Which of the following statements

is/are considered as the portents for

future of Industrial Relations in India ?

a. The plurality of Industrial
Relations will be seen not merely
in terms of the organized and the
unorganized, but also union and
non-union firms.

b. Industrial Relations will
increasingly be  driven Dby
contextual factors.

c. Trade unions have to search for a new
form and structure for maintaining

voice and representation.
d. Increasingly the young, new and

diverse workforce will resist
joining unions.
(A) onlya (B) aandb

(C) a,bandc (D) a,b,candd

Which of the following statements

about tripartism in India is not true ?

(A) It began in India Dbefore
independence.

(B) It is relatively more widespread
in the Central Government than
in State Government.

(C) It became virtually defunct for
a while and did not receive any
impetus from the economic
reforms initiated in 1991.

(D) As carried out presently, it has
weaknesses both in terms of
structure and process.

Arrange the following in a

chronological sequence sharing from

the latest to the earliest.

a. 20-point Economic Programme.

b. Appointment of the First National
Commission on Labour.

c. Appointment of the Whitley
Commission on Labour.

d. Enactment of the Inter-State Migrant
Workmen (Regulation of Employment

and Conditions of Service) Act.
Codes :
(A) a,b,candd (B) d,a,bandc
(C) b,c,danda (D) c,b,aandd

Paper-I11

23.

24.

25.

What is the full form of AFL — CIO ?

(A) Asian Federation of Labour
and Confederation of
International Organizations.

(B) Asian Federation of Labour
and Congress of Industrial
Organizations.

(C) American Federation of Labour
and Confederation of Industrial
Organizations.

(D) American Federation of Labour
and Congress of Industrial

Organizations.
Match the following :
Name of the Country in
Legislation which enacted
(a) Labour 1. Great Britain
Management

Relations Act
(b) Trade Unions ii. USA
and Labour
Relations Act
(¢) Unorganised
Sector Social

1ii. India

Security Act
Codes :
(@ @b (©

(A i i i

B) i i il

(©) i i il

(D) i i i

Match the following Japanese words
relating to the ‘5S° concept and their
meanings.

Japanese Words
(a) Shitseke 1.

Meanings
Clearing

(b) Seiton ii. Cleanliness
(c) Seiketsu iii. Discipline
(d) Seiri iv. Orderliness
(e) Seiso v. Sweeping/

Washing
Codes :

(@ b)) © (@ ()
A i i il v v
B) i iv i i v
<© v oaoi iv i
D) ii i v v il

J-55-14
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19. ST T9Y % a5oid §U ﬁr
ﬁmﬁvﬁ\@ﬁﬁ@ﬁ—r@ﬁ?a‘sﬁ‘r
FEY Y W H ATE ?
a.

b. WM

C. EEEALS

d.  vIieror gishadmemsr

(A) o a (B) ad@ab
(C©) a,b,caard (D) abda¥Aic

20. YA ¥ i 96 & vias & qEy
A fefated & @ 7 s & gd
Heheeh HHT ST & 2
a. OfENRTR WM % e W
el TIed Ue TTed o ®9 o
& Tél afesn AiHw T ol aor
i g & UiaeH & ®7 9
T S |

b. 3N ¥eY dgd g¢ N H §eY
TReh ST RT AMeAd et |

c. Ul SO el AU Uldmrdce
I 3TIUYT TEH o oI T ®F AT
FCEAT St TATST AT B |

d. gar, =& aur fafoeaer & 59
e TE I TSI TET A FH

Ty BT |
(A) %aA a (B) ad@b
(C) a,bdurc (D) a,b,caard

21. 9RA ¥ BueiEes & a) § Hetatad §

DI A HUT Tl € 2

(A) TE 9RA § @ 6 [ 3T g |

(B) TE TT TIHRT &I 3YULT Had
WHR Y ARy gaferd & |

(C) T 993 % [T I8 Jaurd & T
oqr @ 1991 H Y fHT U
3TTe GURT & WedTe el et |

(D) 3T 7§ 599 YR oA @ T, TS
chr%ﬁmaﬁrnmﬁrﬁ

TEAE |
22, TEMGY @ UIAH & HOmRT H
=i ot sater i
a. 20 T Nw A
b. M ISR S 3TN i
c. U W TS AN Hi
d. IiURTs yardt FHHR

T

AT 1 TR BT
(A) a,b,caad (B) d,a,bddlc
(C©) b,c,daara (D) c,b,adard

J-55-14

23. TUF TA-CIO 1 I &Y 7 § 2
(A) TREA TevH AE o UUg
SRS
(B) TP WM 3% ok U
FHIUT 3N TS TA SRS
(C) RSP he@H W% TR T
o . e

TSI
(D) 3RS he@H 3 TR U
FHIUT 3T TS TSI
24, TfetEa ® gafed ST
arfafraw @A o1 forad
IR g3t
(a) TR HASTHS i e
RGN R
(b) TTIRFUWS i JTET
T et v
(c) IFATESS iii. YR
TFT A
faaqﬁz“rﬁ'cr’a

(a) (b) (0
(A 1 1 1
B) i i i
O 1 1 111
(D) i i i
25. ‘58’ STEYNROT 9§ Heftud [TErenad
ST SRl B 3R ol ¥ gAfe
I
T e et
(a) TerTas i. e
(b) e ii. TEE

(c) g iii. SIS

(d) ¥ iv. GeHeREHEET

(e) T=ar v. ST
wnm/‘ﬂgws‘ AT

B :

@ (b)) © @ ()
(A 1 i i iv v
B) ii  iv i i v
<G v o ouoi iv i
D) i i iv v il
Paper-111
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26. Which of the following 29. Which is not a feature of lockout ?
characteristics of an economy is a (A) Temporarily  closing  the
barrier to globalization of business ? establishment.

(A) Shift of labour intensive (B)  Suspending work.

(C) Workers refraining from work.

industry to low cost technology (D) Employer refusing to provide
and advanced processes. work to employees.

(B) Surplus labour.
(C) Flexible production chains.
(D) Global production chains and

30. Which of the following Acts was
passed in USA to balance the power
of employers and unions ?

integrated supply chain. (A) Clayton Antitrust Act
(B) Narris — Laguaradia Act
27. Which one of the following is not an (C) Wagner Act
object of the Indian Labour (D) Taft — Hartley Act
Conference ? ) ) ) 31. Who used the term ‘collective
(A) To promote uniformity in bargaining’ first ?
labour legislation. (A) J.H. Richardson
(B) To Ilay down procedure for (B) John T. Dunlop
settlement of industrial disputes. (C) Sidney and Beatrice Webbs
(C) To mediate between labour and (D) Neil W. Chamberlain
management to resolve 32. Which organization has made a
conflict. declaration on Fundamental
(D) To discuss all matters of all principles and Human Rights at the
India importance  between work place as one of the components

of ‘Decent Work’ ?
(A) First National Commission on
Labour.

employers and employees.

28. Match the themes with approaches to (B) Indian Labour Conference.

industrial relations : (C) International Labour Organization.

Approach Theme (D)  Sachar Committee on Worker’s

(a) Trustee- i. Employers are low participation.

ship unto  themselves, 33. Which of the following states that “a

prov1ders of JQb, socialist society is built not solely on

income and social monetary incentives, but on ideas of

security. service to society and willingness on

(b) Radical ii. Conflict  between the part of the latter to recognize

such service ?”

emp}oyges is rational (A) First Five Year Plan
and inevitable. .
. ) (B) Second Five Year Plan
(c) Pluralist iii. Production system (C) Fifth Five Year Plan
is privately owned (D) Eleventh Five Year Plan
an.d 1S %mﬁt 34. Name the legislation  which
_ . orented. empowers government of United
(d) Unitary 1iv. Holds property on Kingdom to bring settlement in an
trust for others. industrial dispute in the event of the
@ b)) (© @@ parties not reaching an agreement.
A i i i v (A) Trade Unions and Labour
B) i r : Relations Act
(B) v m (B) Employment Protection Act
© v 1 1 1 7
. .. . (C) Conciliation Act
D) v i i 1 (D) Voluntary Arbitration Act
Paper-II1 8 J-55-14

Downloaded-From:-http://ugcnetportal.com



Downloaded-From:-http://ugcnetportal.com

26.

27.

28.

fordl erefegaeen o i 9T SHTerRTor

SO o AYEIeHIUT h ER4H ¢ ?

(A) % UgH ST B TE A
SN ool Wl e S
TishATeT T ST

(B) ifHehi o1 eTiee

(C) ool ScaIe oTedt

(D) dofYas ICURA @l qAT Thighd
MY *fEeT

fefafad § @ &9 9@ 9ag 99

T T U 329 Tl € 2

(A) =\ AT H THEIAT AT

(B) 3w fommei & foer &g
FHEATF fud HT |

(C) Ti-gHEE & fau g 2R
Tee HUSH o S Hededl ST |

(D) TaEe R HHOIREl & o
I3 AT AfEeT YRAE HEw et
Tt o) i e |

frefefad ufaarr fowai den sfenfres
Tee & SUNTHT b1 GHTTT BT
I yferarer faug
(a) =TT i
g e, 3T e
ISR TR ST € |
TeET HUSST el

(b) afqemr i

FHHAET & are Toy

BT lfeheh & e
I & |

(c) TEgeER  iil. ScdTET OTer ST

e oAl TOTeAT &
TqAT FATH T SR

3

I A W A
T G RO
FATE |

(d) UehIcHH iv.

S

@ b © @@
(A) i i i v
B) iv 1 1 1il
© iv 1 il i
D) iv 1 1il 1

J-55-14
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29.

30.

31.

32.

33.

34.
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(A) SuE. REse

(B) ST 1. & e

(C) Taer 2R deteq a9
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(A) VY TR HH A
(B) R &9 T
(C) IR 5 e
(D) USRI I FEWIHTAT T TR Qifd

Tr=foTiad oerea feas fear man € i

“THTEE] GHST S 0T SheeT effures
TIeATe T ST el Bl dfesh 78 TSt
& fAT FareT qor 37 FareT A R
AT o for O S Blar € 27
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36.

37.

38.

Match the following outcomes with
the processes of Industrial Relations.

Process Outcomes
(a) Conciliation i. Agreement
(b) Collective 1. Award
bargaining

iii. Consent
Award
1v. Settlement

(¢) Adjudication

(d) Adjudication by
mutual consensus

@ O © @

(A) i v i i
@) iv i il iii
©) i i iv i
D) i Qi i iv

Globalization refers to

a. the process of growing
interdependence among elements
of global economy.

b. worldwide interdependence of
resource flows, product markets
and business competition.

c. interdependence of
markets only.

d. interdependence for resources only

product

(A) All the above statements are correct.
(B) aandb are correct.

(C) only cis correct.

(D) onlyd is correct.

Quality circle members are

(A) paid by management for
participation in quality circles.

(B) formally trained for
participation in quality circles.

(C) external  consultants  who
improve quality.

(D) led by active trade union leaders.

Which of the following models is
popular for its comparison of
personnel management and human
resource management on the basis of
‘Hard’ and ‘Soft’ approach ?

(A) David Guest’s Model

(B) John M. Story’s Model

(C) C.J. Fomburn’s Model

(D) Karen Legge’s Model.
Paper-I11
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39.

40.

41.

42.

43.

Burnout is

(A) Depletion of Physical and
Mental Resources due to
excessive striving to reach

unrealistic work goals.

Lowest level of productivity due
to excessive strikes or lockouts.
Depreciation of human resource
due to changes in technology.

(D) Boredom due to repetitive work.

(B)
©

Performance management is a system that :

a. ensures that employee’s
performance is supporting
company’s aims.

b. Starts with fixing performance
standards and ends with comparing
results with those standards.

c¢. Includes daily or weekly interactions
to ensure continuous improvement in
employee’s performance.

d. ensures that employee has requisite
training to perform the job.

(A) aonly (B) aandd only

(C) a,candd (D) a,b,candd

A business firm may opt for

Voluntary Retirement Scheme (VRS)

under the following circumstances

(A) recession in business.

(B) intense competition and thus
firm becomes unviable.

(C) joint ventures with foreign
collaborations.
(D) All of the above.

How many defects per million
products or services are permitted
under Six Sigma Technique ?
(A) 34 (B) 43
) 23 (D) 32

Greet Hofstede’s cultural dimensions
do not include

(A) Individualism/Collectivism
(B) Power distance

(C) Uncertainty avoidance

(D) Political dominance

J-55-14
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35. fiEfes Gaui i UihAteN qem S 39. SIS R
oM 6T Geferd ity : (A) FICUME FE-AT H AT FA
uiRatd aRoTm At =T F HROT AN
(a) FHHEITATIH i Wine FMT‘-THW?THI
(b) FeAlded ST ii.  STETS (B) oIy gEaTl qAT ATee’l &
(c) USSIfeasH iii. Y 3ETE FHRUT SARHAT T FATH WX |
(d) USSeheM aE v, WeotHe (C) Wt 9 uieada & HRUT g6
T HEEH TG 6 Goaed |
FT: (D) YRTEdT % HROT IS |
@ b © @
(A) i iv i i 40. 1 IR vEYT U Ugia € S
B v i i did a. T4 99 I gHREd #ar § ®
© i i v FHEEAR! HT HE FEET FEOAT
D) i Qi v AT & ST A THITH T |
b. ®F R & gHF - HuRer ¥
36. WWW%%W%W T B ¥ AT I A @
a %aa; T TR =l T 0 GATE el ¢ |
g€ TR FAEe | c. FEE ¥ W o § g

37.

38.

b. THEAYAE, SAGRANR - qdl
I Uiaeel i foava =y
RO 99T |

c. FIA SARIANRI B TWERX
R |

d. ot THEAT H WER (R |

(A) SUIH T H W T |

(B) adab T |

(C) HTACTIE |

(D) FIAJdTEE |

FalfeTel Tehet o TI/h TSN

(A) TEAE bl H 9T o o [oIT Teie
HUSH FRT T foRT ST & |

(B) @il Hhed H AM o & fow
TR & 9 HRteT fomar ST € |

(C) eI W9 & & ST e |
FUR A € |

(D) S-G9 % AHT 13T & TT
e e |

TS TAT WU TUNH % U W
FHIHE GTe qT JHe G {oaehr T &t
qor & fow f=fefad § & & @
e ABYT € 2

(A) <foe T F1 Aead

(B) S UH, &R I AeeA

(C) WS, ®IHEA FT Hied

(D) B AT T HiSA

J-55-14
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41.

42.

43.

IREPR H GHTET FH & fow
I orEr  WdEs U
FTHIR ot T BT & |
d. =% gHfvaa war € & o &=
H I FH F (AT FHER B

TETTH URTETOT I € |
(A) FHaAa (B) &t adard
(C) a,cTurd (D) a,b,cauard

IS (S 3R TH) 37T Febell € 2

(A) =R T T

(B) 3T Uiqeel d9T 39 HROT UTqwa=
T TR T ST

(C) fa=ett ot o Trer g =)

(D) o T+t

e T 2ortiep & efaria ufq faferam

ST A1 Fenatt | foherT gl T w2

(A) 3.4 (B) 4.3

(C) 23 (D) 3.2

ﬁzm%mmﬁwﬁm

Paper-I11

Downloaded-From:-http://ugcnetportal.com



Downloaded-From:-http://ugcnetportal.com

44. Which of the following does not help in 49. What is the full form of SQCDM which

meeting the needs of dual-career couples ? characterizes Toyota Perfection ?
(A) Flexitime (A) Systematic, Questioning,
(B) Compressed work week Comparing, Discussing,
(C) Job sharing Measurement.
(D) Life-cycle accounts (B) Statistical, Qualitative,
Comprehensive, Directive,
45. A polycentric organization has Measurement.
(A) Parent country oriented approach. (C) Systematic, Qualitative,
(B) Host country oriented approach Collaborative, Diversifying,
(C) Global approach. Monitoring.
(D) Third country oriented approach. (D) Safety, Quality, Cost, Delivery,
Morale.
46. A multicultural organization 50. Who gave the concept of ‘Life-

(A) reflects interests of diverse
socio — cultural groups in its
mission and operations.

(B) is committed to eradicate social
oppression in all forms within
the organization.

(C) includes members of diverse

Positions in the context of
Transactional Analysis ?

(A) Eric Berne

(B) Thomas A. Harris

(C) Joseph Lufth and Harry Inghams
(D) Jay Galbraith

cultural and social groups in 51. Who developed the ‘Managerial Grid’
decision making. on the basis of Ohio State Study ?
(D) All of the above. (A) Rensis Likert.
) ] (B) Lewin, Lippitt and White.
47. Who popularized Quality of work (C) Robert Blake and Jane S.
life as a global phenomena ? Mouton.
(A) T.V. Rao, Biju Varkkey and (D) Victor Vroom and Phillip Yetton.
Hasmukh Adhia. ) ,
(B) James Austin, Peter Villanova 52. In India, the scheme of workers
and Hugh Hindwar. education operates at which levels ?
(C) Einar Thorsrud, Fred Emery (A) National
and Eric Tryst. (B) Regional
(D) Richard Reilly, James Smithy (C) Unit/Village
and Nicholas Vasilopolous. (D) All of the above

53. A virtual organization has which of

48.  Match the following : the following elements ?

(a) Cl(;)(r)r(l)kestitive i ng:gzgs e a. E-mail .integra_tion and office
Ad P ' & systems integration.
(b) Co;ggl;g%eg ii. Douglas b. Information technology.
for Future Murray 3 %//Io‘bﬂe dﬁ};a-l
McGregor . Voice mail alert.

. e e (A) onlya (B) aandb
(c) The Fifth iii. Michael E. (C) a bandc (D) ab,candd

Discipline Porter
(d) The Human iv. C.K. 54. Dejobbing means
Side of Prahallad and a. broadening responsibilities of
Enterprise Gary Hamel jobs.
@ (b)) (© (@ b. another form of retrenchment.
(A) 1 ivooi1 i c. limiting the chances of lay offs.
B) 1 i v d. downsizing the organization.
(C©) v i i i (A) onlya (B) bandc
D) u v i 1 (C) onlyd (D) b,candd
Paper-II1 12 J-55-14
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44.

45.

46.

47.

48.

Tt ST o AR H B S fefq |
ﬁmf&rf@a T 9 ®HF d R
MEYTHAT ! i | Feraeh T&l gia ?
(A) TARERTEH (F1F 9T H AHeT)
(B) HUISH HE ACTE
(C) T eI
(D) SieF-dsh @t

el SeT | el

(A) T 3 W I

(B) HSTET <97 ek SUTTH
(C) afvass U™

(D) i 3T RSk SUNTH

QW@@HI{@?M% H‘Id"l

(A) T Toer e wimane o fafaw
TSI Ahieh el & fedl o
TR IAE |

(B) T ¥ 3iEY AT UHR F I
% S & Ufd Hfeg e g |

(C) TR o % wE ﬁw‘gr%g

HiEh{des qa1 AHITS

T ol IMHA FAT & |

(D) U @ |

4 SHa Sl IO Hi T 7 9

fFTp g1 Afvas uiEeTm & w9 4

A S .

(A) dar. 4, SEISSLLE]
afean

(B) SF§ 3, tex faeen @
REREEEI

(@ geﬁﬂéﬂ%@ﬁwqﬁzﬁ

(D) T T, S famedt qen Frepror
Afgearerd

fefortae = :
il e g
(a) Hfuefea i R

veditest
ii. wﬁ

(b) HUIET BRI

() & fefgwet= iii. HEHA g T
(d) T eHa aes iv. %, Ueeg
FHATF TS AR T &9

@ b © @
(A) i iv i i
B) i i i iv
©) iv i i i
(D) i iv i i

J-55-14
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49.

50.

S1.

52.

53.

54.
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T g 9 UH, S JEer uRguidr

NMICATET YT &, T Y07 & F1 € 2

(A) Tawanfes, w@vaT,  HUART,

(B) ¥ifeswa, Feriaefea, siveias,
SRS, HoHE

(C) Tawufes, Fameeies, Hicmanie,
STEATAHIET, AR
(D) T, FAMCA!, DL, Setarl, ARA

TR AT % I H eE®
TISHYST i RO {6 §RI S TS € 2

‘el W W' H MR W
ToiEe e’ (Veysa  SToreh) &
ferepre foram fomam 2

(A) g o

(B) e, fafue @ =ree

(C) & =A%k O S TH, HiEH

(D) T o @ fRfeta a2m

IRA § Ty TS i AT vl T
TR TATE A & ?
(B) &=

(A) TEE
(C) THEAH (D) IwIe @

TS TG ARSI tarad § 4
T Y T e ¢ 2
a.  T-UoT WSOl qu iRy o

b. g WA

c. HERA 22T

d. d3T O Teie

(A) o a (B) ad@ab

(C©) abdATc (D) a,b,caard

TetiterT &1 319 &

a. A o SIcel bl STk ST |

b. S H THET |

c. ‘o AW I HifHd T |

d. 9T % HHAE o GE& HH

AT |

(A) o a (B) baAc

(C) o d (D) b,caad
Paper-I11
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56.

57.

Total Quality Management is a

(A) responsibility of  quality
management staff to identify
and solve quality related
problems.

commitment to quality that
goes beyond internal company
issues to  suppliers and
customers.

(B)

©

system where top management
takes decisions.

procedure  which  involves
quantitative tools exclusively
for quality improvements.

D)

Employee compensation was denied
by the employer on the pretext of
certain traditional doctrines. Which
of the following is/are part of those
doctrines ?

a. Doctrine of Assumed Risk.

b. Doctrine of Contributory negligence.

c. Doctrine of Common employment
and fellow servants’ responsibility.

d. Doctrine of Employer’s Right.
(A) a,b,d (B) a,b,c
(C) b,c,d (D) ¢

Which out of the following is/are

reasons for the low efficacy of ILO ?

a. The recommendations made by
ILO are just advisory notes.

b. The conventions are not binding
unless the member countries
ratify them.

c. There is no power with ILO to
instruct the member countries to
adopt its recommendations and
conventions.

d. The 1local conditions of the
member countries are a
constraint.

(A) a,b B) b

(© a,b,c (D) a,b,c,d

Paper-I11
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58.

59.

60.

61.

As per latest amendment of Industrial

Disputes Act, in 2010 what is the

wage limit of a ‘workman’ to be

covered under the Act and what was

the earlier limit ?

(A) 10,000 per mensem enhanced
from X 1,600 per mensem.

(B) % 10,000 per mensem enhanced
from X 3,600 per mensem.

(C) % 5,000 per mensem enhanced

from X 1,600 per mensem.

(D) R 7,500 per mensem enhanced

from X 3,600 per mensem.

Which of the following historical
reasons were responsible for the
enactment of the Trade Unions Act ?
a. Formation of ILO.

b. Emergence of Provincial
Governments.

c. The strike spearheaded by the
Madras Labour Union in

Buckingham & Carnatic Mills.
d. The ascendance of Labour Party
to the British Government as the

ruling party.
(A) a,c (B) b,c
©) a,cd (D) b,c,d

Match the following Committee/
Commissions with the chairpersons.

Committee/ Chairpersons
Commissions
(a) Royal Commi- i. P.B.
ssion on Labour Gajendra
gadkar
(b) Labour Investi- in. J.H.
gation Committee Whitley
(c) First National iii. Ravindra
Commission on Verma
Labour
(d) Second National iv. W.A. Rege

Commission on

Labour

@ b © @

ii i v iii
B) iv i i i
© i v i iii
(D) il i v ii

In which year the first Factories Act
was enacted ?

(A) 1881 (B)

(©) 1911 (D)

1891
1948

J-55-14
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55. QHUT TUTET YEEA €

(A) TR ¥ GEygd  gHEenst
TEEHT T 3AR Gor
TOTET Ve HUENET T S |

(B) 39 TUEW % Ud Waegdr S
FHEAT % GET SAYfAeRdre qar
YIRS o 5T @ E |

(C) T yomel STEH ¥y yeeH fHom
AAE |

(D) Wiskan S o B URehR o
% o0 IO ST FHI & |

56. HAUT WRETT HAl & ST S
e 3 FHE S Afde 9 g
fear | ffafea 9 9 o7 99 99 =9
TR H1/F T &8 2

a.  STAHT GaX & a9
b.  IEHE THAT FH AT

c. {HH TESH 9w Gedas &
T & 7

d. e & erfuer & 7a
(A) a,b,d (B)
(C©) b,c,d

a,b,c
D) ¢

57. @€ TS 3N Bl T HELHAT B HROT

Frfeiad & 9 &9 9d 88 2
a. 341"%(' TeT M FWT A ‘T% TR
Herel TeierE femforat € |

b. ORI SR R Bl 51| e
T 91 OIS T T SAH!
gt F&l T 3T |

C. 3 UA 3 & UrE UH i e
TEl & TSraes 3ieid o 31g uet o
F gwien o FHevE H
I o T Tew=r 39 1 ST
TOF |

d. = 0 @ wWHE it e
TAATE |

(A) a,b

(C) a,b,c

J-55-14

(B) b
(D) a,b,c,d

58. sfEifes foere sfufm & Emaw

59.

60.

61.

UM % SER a9 2010 W TS
“FHHHR’ I ASIG I HHAT T qF
TS ¢ 3 Teet 47 of 2
(A) 10,000 ufq A, ST Yeet
% 1,600 Ufq A7/ & |
(B) ¥ 10,000 ufd A, ST Yeet
% 3,600 Ufq A1 & |
(C) ¥ 5,000 Uiq AT, ST ge
% 1,600/- vifeT AT ot |
(D) % 7,500/- fq A, ST TEA
% 3,600/- Tl AT ot |

A WY AU B TR [T ST
% Ui Ufdelias SR Aefarad § d
FIY G ?
a. 3T USA 3T ol T
b. T WIHRT 1 I
c. TSN oy I §RT afhead T
FAlTee Hed | ggarel I& BT |
d. TRT #H WHR W FAT U &
T o) IET 1 TG 8T
(A) a,c (B) b,c
©) a,cd (D) b,c,d
Feftag wffqa/emanm & S
3TeTeTl o QT GAfeTd T
giufa/smanT el
a. T HHYA 3 i dra T
GERS e
b. T SAENTH HES i, I, T,
]
c. WIH TS 99 AT {ii. WS oHT
d. 5o T 91 3T iv. T, U4
S
a b c d
(A) 11 1 v 111
B) iv i i i
((©) N T . Y 1 1il
D) i1 1 v i1

T HREMT AT Fefatea 9 9

foFg o oI g o 2
(A) 1881 (B) 1891
(©) 1911 (D) 1948
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62.

63.

64.

The principle of social justice
regulating labour legislations which
envisages the policy that “All human
beings irrespective of race, creed or
sex have the right to pursue both their
material well-being, and their spiritual
development in conditions of freedom
and dignity, of economic security and
equal opportunity” was propagated by
a.  The Philadelphia chapter

b.  The Magna Carta

c.  The Constitution of India

d.  The League of Nations

(A) Onlya
(C©) a,b,c D) a,c,d

Which of the following statements
about implementation machinery of
Labour legislation is/are not true ?

a. The State Government is the
appropriate authority to implement
Labour  Legislations in the
jurisdiction of the State.

b. The State Government is the
appropriate implementing
authority of Labour Legislation
even for Central Government
Organizations located in the State.

c. The State Government has no

authority to implement Labour
Legislations in  the  Central
Government Organisations even

though they are located in the state.

(B) Bothaandc

. The Central Government can over rule

the State Government in implementing
Labour Legislations in any organization

irrespective of their location.
(A) b,d (B) a,d
(©) b,c,d (D) a,b,d

Assertion (A) : National Renewal
Fund (NRF) to train the worker’s
rendered unemployed and
displaced due to restructuring was
created as a sequel to new
economic policy, was neither
adequate nor used properly.

Reason (R) : Voluntary Retirement
Schemes introduced by Public

Sector Undertakings diverted
much of the NRF.
Codes :

(A) Both (A) and (R) are wrong.
(B) (A)isright, (R) is wrong.

(C) (A)is wrong, (R) is right.

(D) (A)isright and (R) validates (A).

Paper-I11
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65.

66.

67.

68.

Which of the following statements
about labour legislation in India is
true ?

(A) Labour Legislation is not a part
of Social legislation.

(B) Labour Legislation is
influenced by the Philosophy
of Laissez faire.

(C) Majority of Legislations are
influenced by ILO conventions
and recommendations.

(D) Labour Legislation in India are
largely result of trade union
initiatives.

Which of the following is the

Executive Council of ILO ?

(A) International Labour
Conference.

(B) International Labour Office

(C) International Labour Institute

(D) The Governing Body

Which of the following has the

power to apply all or any of the

provisions of the Factories Act to

certain premises ?

(A) The Chief Inspector of
Factories of a State.

(B) The Central Government.

(C) The State Government.

(D) Both Central and
Governments.

State

According to recommendations of
Second National Commission on
Labour, which of the following must
be regarded as ‘misconduct’ and not
as ‘Industrial dispute’ ?

a.  Go-slow

b.  Work-to-rule

C. Strike

d. Lockout

(A) onlyd (B) a,b,c

(C) aandb (D) onlya
J-55-14
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62.

63.

64.

‘gt TR — = STl FS, T AT for
Fo A & — H WA T TRARER
STATEROT e TR Ud G 318
o ferfa, «fifae seamr qor e
TP T STTERYT e BT SR & 17

- IS FF § fAfed s daedt faam
ﬁ%ﬁwﬁqﬁaﬁﬁaﬁwﬁwm%
Wﬁ%wwwmw
f& fheefowmar 9@ g1

f& T T g

TR Giae™ g1

TS T 3T 49 g7 .
(A) *aeta (B) a @l ¢ qAl
(© a,b,c D) a,c,d

g0 IHTH & FEAEIT b GOy H

fefoiad 9 9 9 4 5 T8 T8l &/ € 2

a. {9 % T & Iiaa T
WHK 99 ATEH & HRETT
A B TS FATE |

b. TS % UL % Wil &g s
WHE & G W i oW

ao o

(A) b,d (B)

(C©) b,c,d

Afirpe (A) : TTRET % HROT
éﬂaﬂwaﬁtﬁwﬁaﬁmaﬁqﬁ
F UM A F W Fe

e Hifq % IW - TG % €9

(A) TaT (R) I T € |

(B) (A)WE & (R) T F |

(C) (A)Ta & (R) Wer e |

(D) (A) W& & @ (R), (A) &
Feanud Har & |
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65.

66.

67.

68.

OG § o9 U & d69g 9 s 91

T TE 2

(A) =\ faurgq, qme fauma &t
T 78T & 9

(B) o Toura, e & 9E 9
Tl € |

(C) oiufTadi § | W T Uer 3T
% HovE dAa [ERRET §RT
THTfe € |

(D) 9RA ¥ 9\ fquEe e a5y
e ! TeeT & UROTH € |

AE TA o H URSEd  Hitger
fAffad @ S 8 2

(A) ZTEIE TR HRT
(B) EEHIMA e 3HiThd
(C) T TR TR
(D) fg matT stet

fFel FrEFl & TRE § HREE
151 0ot S <t s SR | NN T
TS/ Sl AN XA Wl IfeRT
fr=ferfaa & @ fova & 2

(A) T % HRGHI 1 & ReTh
(B) T WHR

(C) g T

(D) ST FAT T THR AT

g U2 g e w TAwRen &
IER efetEa B § fha/fee stfem
® W CFRER (HEEHSF) T ST

aifew, ‘ofmifir  foaw  (Sefeaa

fewge) =@t 2

a. & HIA (M-

b. FREER F1& (T-2.%0)

C. godleT

d. st

(A) FHaAd (B) a,b,c

(C) a,b (D) ot a
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69.

70.

71.

Which of the following statements
are not true in relation to
employment of contract labour in any
establishment ?

a. Supreme Court can abolish
contract labour system in any
establishment.

b. High Court can abolish contract
labour and prohibit the principal
employer from engaging contract
labour where the Government has
not abolished the same.

c. An appropriate Government and
not the court can prohibit the
employment of contract labour as
per the provisions of law.

d. Neither the court nor the
appropriate  Government  can
abolish the contract labour in any
establishment.

(A) ab (B) a,b,d
(©) ab,c (D) a,b,c,d
Who is an ‘inspector’ under the

Payment of Wages Act for the purposes
of factories in the local limit ?

(A) The Inspector appointed by the
State Government in respect of
such establishments.

The Inspector of  factories
appointed under the Factories Act.
The Inspector appointed by the
Central Government for the
said purpose.

The Inspector appointed by the
appropriate Government for the
said purpose.

Assertion (A) Conciliation
machinery in India has been
playing a positive role, but
often it is not recognized and is
considered as avoidable hurdle.

Reason (R) : Due to the lack of
professionalism and objectivity,
and susceptibility to political
pressures, conciliation becomes

(B)
©

D)

72.

73.

74.

75.

ineffective.
Codes :
(A) (A) is right, but (R) does not
validate (A).
(B) (A)is correct, but (R) is wrong.
(C) (A)isright and (R) validates (A).
(D) Both (A) and (R) are wrong.
Paper-111
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Which of the following is not a
principle of Labour Legislation ?

(A) Social Justice

(B) Social Welfare
(C) National Economy
(D) Control of Environment

Which of the following had not been
responsible for initiating enactment
of labour legislations in India ?

a. Colonial Rule

b. Adoption of Indian Constitution

c¢. Indian tradition/social system

d. Nationalist Movement for freedom
(A) a,b (B) a,b,c

(C) ab,c,d (D) a,b,d

Which of the following is not a
modification of any  existing
legislation, but a proposed new
legislation by the Second National
Commission on Labour ?

(A) Child Labour (Prohibition and
Regulation) Bill.

Labour Management Relations
Bill.

Small Enterprises (Employment
Relations) Act.

Unorganized  Sector
Security Act.

(B)
©

(D) Social

The Minimum Wages Act in India is
the outcome of recommendations of
which of the following ?

a. Rege Committee

b. Indian Labour Conference

c. Labour Investigation Committee
d. Royal Commission on Labour

(A) ab (B) a,b,d
(© a,b,c,d (D) a,b,c
J-55-14
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69. Al off Uid=F | e deR & e
% oy ¥ fretarad § d o A we
Tl & EE 7
a. feE ot ufdem § $iR o
JUTTAT ol Sy et eI
F GHATE |

b. 3T A Hede TR Bl FH
F GhHAT & a3 U
T AT ®F Hede olel
s =9 ¥ T Gehar € STl
THR = 3 AT 6l € |

c. A UEEM % AR TATES
WHR, 7 T A, Heae AT
% f7aST BT Tk Wbt § |

d. = d e 7 @ gAnes WWER
ot ufaee § Hede @R &

TS 1 G & Gehd & |
(A) ab (B) a,b,d
(© a,b,c (D) a,b,c,d

70. TG WS SAMUHEH % FATA IHE
T H REH & 32§ Th FRIETH
P E 9
(A) 3T UBR & UaRHl & T T

WHR FRT et Fiere
(B) FREMT tai=m & 3 et
HREMT R
(C) Sudad YT ¥ HF3F WHR R
IREUSED

RERl
(D) 9 39T § GATHS THR R
IBRESRENSED

71. AfdweE (A) : 9RA H Goledrl oF
YR e FT @ & g
TEHT TH T T Hordl 3T 3
UREROT STET WA Sl & |
A% (R) : ARG T2 Sqfear §
F A IoHICR SEE & 9
T & % HROT Yotg o &
ST & |
(A) (A) T & G R), (A) #H
A el S |
(A) T8 ¢, W] (R) T & |
(A) TEl & W (R) & Fmmgd
FATE |
(A) T (R) I o1 € |

(B)
©

D)

72.

73.

74.

75.
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fefafea & 9 =4 @ g8 foumT &
s fagid Tél § 2

(A) HEIRTS =T

(B) THST hodmoT

(C) UL SryeTare

(D) YATEROT 1 0T

aa H g9 fourm & ofutam H
fefofiad o 9 ferge AR =& w1 8 2

a. RRIECINPRYIEE]

b.  YRGE WiaEM &1 ST

c.  YRAT URUNH/HTATSTS JoTett
d. ST & AR SR
(A) ab (B) a,b,c
(C) a,b,c,d (D) a,b,d

frafafed & ¥ ®F @ fo&dt HisEr
faurm (@frciem) g @ € dfes
5 LT o9 ST B Ui U
o1 fomaa € 2

(A) 9T 5 (fauy 3R fafraw) faor
(B) ©eR HstHe Reterg faer

(C) T TIUTESIST (TETEST  Retvid)

ey

ISR S e Wt FaagRer
L

D)

IRA  H  FAaH  Aeigd  eirufan
frfafes & ¥ feen fowien &

IRUTREEY 9T fohar T 2
a. 0w
b. e A HHT

c. X ATV S
d. I FHIE AT AR

(A) ab (B) a,b,d
(©) a,b,c,d (D) a,b,c
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